
1

Section 10

Double Disc Opener

                                                         
1 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.





2

Price List for Double Disc Opener
2240-022

Individual Components:

No. Part No. Description Qty.
1 1B11-51AC BOLT ZP 1/4 UNC X 1 3/4" 1
2 1B11-51B6 BOLT ZP 5/16 UNC X 3/4" 4
3 1B11-51DD BOLT ZP 7/16 UNC X 2" 1
4 1B11-81ED BOLT ZP 1/2 UNC X 2" 1
5 1B11-81EE BOLT ZP 1/2 UNC X 2 1/4" 1
6 1B11-81ET BOLT ZP 1/2 UNC X 7" 1
7 1B21-51C8 SET SCREW ZP 3/8 UNC X 1" 4
8 1B21-51CD SET SCREW ZP 3/8 UNC X 2" 4
9 1N31-51A NUT NYLOC ZP 1/4"UNC 1
10 1N31-51C NUT NYLOC ZP 3/8"UNC 4
11 1N31-51E NUT NYLOC ZP 1/2"UNC 3
12 1N31-51D NUT NYLOC ZP 7/16"UNC 1
13 1N51-51B NUT CONELOCK ZP 5/16"UNC 4
14 1N51-51C NUT CONELOCK ZP 3/8"UNC 8
15 1N62-81H NUT CASTLE ZP 3/4" UNF 2
16 1W1B-13H WASHER FOR HT HUB  3/4" 2
17 1W10-11B WASHER FLAT ZP 5/16" 4
18 1W10-11E WASHER FLAT ZP 1/2" 2
19 1W1M-11H WASHER FLAT ZP 20mm 2
20 1050-060 COTTER PIN ZP M3.2 X 32 2
21 1050-083 COTTER PIN ZP M4 X 32 2
22 1100-111 SPRING, D/DISC OPENER MUDSCRAPER 1
23 1310-203 DUST CAP FOR HT HUB 2
24 1600-210 SEALING WASHER Z204 2
25 1610-102 BEARING 3204B-2RSRTNH 2

                                                         
2 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.



3

No. Part No. Description Qty.
26 2046-004 DISC COULTER 16" X 4MM X 4H X 3" PCD 2
27 2076-050 D/D SEED TUBE 1.25" ADJUSTABLE 1
28 2240-120 RETAINER, HUB CAP D/DISC OPENER 2
29 2240-122 D/DISC OPN SHK WELD ASSY 16" D 1
30 2240-126 DISC GUARD/SCRAPER ASSY 1
31 2240-127 MUD SCRAPER BRKT SUIT 16" DBL DISC OPN 2
32 2450-114 BRG HSG DISC OPN MACHINED 2
33 2450-116 BLADE ACHIEVER MUDSCRAPER 80 x 50mm 2
34 2450-119 DISC SPR WASHER 40 X 20.4 X 1.5MM 2

                                                         
3 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.


